ESTIMATE

Frontier Upfitting 2732 Big Loop Tri Cheyenne, WY 32009 sales@frontierupfitting.com +1 (307) 331-7248 https://frontierupfitting.com/



Bill to John Moore Saratoga Police Department

PO Box 552 Saratoga, WY 82331 USA

Estimate details

Estimate no.: 250010 Estimate date: 06/15/2025 Expiration date: 07/31/2025 PO or Project: Saratoga PD- 2025 Tahoe K-

9

#	Product or service	Description	Qty	Rate	Amount
1.	SoundOff Signal nFORCE Interior Lightbar (Front) - Dual Color	21-25 Tahoe Vehicle Specific 8 Module Interior Lightbar with DSC Technology R/W - Driver B/W - Passenger	11))	\$1,335.00	\$1,335.00
2.	SoundOff Signal mpower Arrow System (8 Mod) - Dual Color	21-25 Tahoe Vehicle specific 8 Module under rear spoiler warning system. Dual Color Configuration with one tricolor (RBA) module on the passenger side for additional brake illumination. R/A - Driver B/A - Passenger	1	\$1.765.00	\$1,765.00
3.	Setina PB450L Illuminated Push Bar (4 Lights)	Lighted pushbar with 4 total lights, two forward facing and one on each side.	Ŧ	\$1,026.00	\$1,026.00
4.	Setina PB9 Aluminum Fender Wraps	Fender guards for PB450 bumper	76	\$600.00	\$600.00
5.	SoundOff Signal SL Runner Rocker Light (61") - Dual Color	SL Running Light, 61" - 5 Module, Dual Color	2	\$422.50	\$845.00
6.	SoundOff Signal SL Runner Bracket (Tahoe)	Mounting Kit for SL Running Light includes: Bracket & Hardware Kit, Chevrolet Tahoe 2021-2025, Ford Maverick 2023 - 2025	2	\$32.50	\$65.00
7.	SoundOff Signal mpower HP 6x1	mpower® HP 6x1 Light includes (1) Light, (1) U- Shaped bracket with mounting hardware - White LEDs (Mounted to the PB for high intensity scene lighting)	2	\$305.00	\$610.00

8	SoundOff Signal 100W Siren Speaker	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	ť	\$250 00	\$250,90
9.	SoundOff Signal Surface Mount Intersector - Dual Color	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 16 LEDs, Dual Color (Mounted under each side mirror for 180- degree side warning)	2	\$238.00	\$476.00
10	. SoundOff Signal Vehicle Specific Unde Mirror Bracket (Tahoe)	er Under Mirror Mount Bracket Kit (each) for installation on Chevrolet Tahoe Police Pursuit & Civilian Vehicles 2021-2025 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount, Driver / Passenger Side	2	\$36.50	\$73,00
11.	SoundOff Signal mpower fascia 4x2 (Stud Mount) - Dual Color (24 LED)	mpower® Fascia 4x2 Light w/ Stud Mount, 18" 5-wire w/ sync option & 1.5 Pigtail, SAE Class 1 & CA Title 13, 9-32 Vdc, Black or White Housing, 24 LED, Dual Color (Cargo Window Warning R/B)	2	\$226,99	\$453,98
12.	SoundOff Signal Window Shroud	Mounts one 4x2 Stud Mount light against the glass for a zero flashback solution in areas such as cargo windows.	2	\$20.00	\$40.00
13.	SoundOff Signal mpower fascia 4x2 (Stud Mount) - Dual Color (24 LED)	mpower® Fascia 4x2 Light w/ Stud Mount, 18" 5-wire w/ sync option & 1.5 Pigtail, SAE Class 1 & CA Title 13, 9-32 Vdc, Black or White Housing, 24 LED, Dual Color (License plate area R/W, B/W)	2	\$226.99	\$453.98
14.	SoundOff Signal 500 Series Control System (100W) - Push Button	bluePRINT® 500 Series Remote Control System with Button Control, 10-16v - 100 watt single-tone	ă,	\$1,110.00	\$1,110.00
15.	SoundOff Signal mpower fascia 3" (Quick Mount) - Single Color (4 LED)	mpower® 3" Fascia Light w/ Quick Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black or White Housing. 4 LED, Single Color (Under the hatch lip for warning when hatch is open R/B)	2	\$96.99	\$193.98
16.	SoundOff Signal Remote Node	The bluePRINT Remote Node allows for a de-centralized installation of warning lights and accessories into the build. Each node has 10 flashing outputs and 4 inputs.	2	\$239.00	\$478.00
17.	SoundOff Signal bluePRINT Sync Kit	bluePRINT Sync allows for vehicle to vehicle synchronization when similar flash patterns are displayed. Works by using GPS timing, not vehicle proximity.	j	\$323.00	\$323.00
18.	SoundOff Signal bluePRINT Link Kit	bluePRINT Link connects to the vehicle CANbus network for passive communication with the vehicle, providing valuable input data to the 500 Series Control System.	1	\$468.00	\$468.00
	SoundOff Signal D-Pillar Wedges (21-24 Fahoe)	D-Pillar Wedge Kit (six wedges) for Chevrolet Tahoe 2021-2024, compatible	Ť	\$77,00	\$77.00

with 31	mpower®	quick	mount	fascia	lights	
---------	---------	-------	-------	--------	--------	--

20,	SoundOff Signal mpower fascia 3" (Quick Mount) - Dual Color (8 LED)	mpower® 3" Fascia Light w/ Quick Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black or White Housing, 8 LED, Dual Color (R/A, B/A, for use with D-Pillar Wedges)	6	\$141_50	\$849 00
219	Troy Products 2025 Tahoe Vehicle- Specific Printer Console	2025 Tahoe 18" Printer Console with Open Storage; 9" Slope, 9" Level	1	\$871,00	\$871.00
22.	Troy Products Tilt-up Cargo Mount	2021-25 Tahoe Tilt-up Cargo Mount with electronics tray, 5-piece system	1	\$850.00	\$850.00
23.	Troy Products Console Accessories	Cup Holders, XL Arm Rest, Sun Glass Tray, Accessory Power, and Sliding Computer Mounting platform (Will need computer specific dock separate)	Ħ	\$855.00	\$855.00
24.	Troy Products Cargo Solution	Locking three drawer cargo solution for 21- 25 Tahoe	्रमू (\$4,680.00	\$4,680.00
25.	Misc. Parts	Stalker Radar with Dual Antennas, Mounting brackets, and wiring harnesses	4)	\$3,432.00	\$3,432.00
26.	Misc. Parts	Universal Gun Lock * Handcuff Style	1	\$486.00	\$486.00
27.	Misc. Parts	American Aluminum K-9 and Prisoner Transport System	4	\$4,813.00	\$4,813.00
28.	Misc. Parts	Hot-N-Pop K-9 Temperature Alarm System	1	\$1,920.00	\$1,920.00
29.	Shipping	Shipping covers the cost of transporting parts, equipment, and materials required for the installation or repair of emergency vehicle systems. This includes vendor shipping fees, freight charges, and handling to ensure timely delivery and project completion.	in in	\$150.00	\$150.00
30.	Level 2 - Advanced Installation	Advanced installation services include the integration of specialized emergency vehicle systems such as in-car video, K-9 temperature control units, radar, ALPR (automatic license plate recognition), and mobile data terminals. These complex installations are performed to exact specifications, ensuring seamless functionality, secure mounting, and full compatibility with vehicle and agency technology systems.	60	\$150.00	\$9,000.00
31.	Level 2 - Installation Supplies	Installation supplies include the essential materials used to securely mount, wire, and connect emergency vehicle equipment, such as wire, connectors, terminals, fuse blocks, fasteners, brackets, and high-heat corrugated loom. These high-quality components ensure safe, reliable, and professional-grade installations that meet	1	\$999.00	\$999.00

industry standards and withstand the demands of emergency service use...

32. Misc. Parts Motorola APX Radio NMO Radio Kit with 1 \$75.00 \$75.00

Antenna

\$39,622.94 Total

Expiry

07/31/2025 date

Accepted date Accepted by